ly

D

2)

3)

4)

5)

7

8)

247 23 94
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2R (XARE, sentence negation)?) 24 (ambiguity)

a 9nEZF ttol A (semantic ambiguity; Russell 1905)

b. 814878 ttelA (pragmatic ambiguity; Horn 1985, 1989) - #5749 metalinguistic use

c. 49 o4 (scope ambiguity; May 1977) - %3tAitel BEX Ao ouiad A3 24

d 23 923 tfeolA (focus-sensitive ambiguity; Kiparsky and Kiparsky 1970, Chomsky 1971,
Jackendoff 1972, Rooth 1985, Koktova 1987, Kratzer 1991, Krifka 1991, Partee 1991, van
Valin and Lapolla 1997, Zubizarreta 1998, and references therein)

The king of France is not bold.
a. internal negation: Ix (Kx AVy (Ky ® vy = x) A ~Bx)
b. external negation: ~ 3x (Kx AVy (Ky = v = x) A Bx) (cf. (1) in Horn 1989 364)

a. Some men aren’t chauvinists - all men are chauvinists.
b. 1 didn’t mange to trap two mongeese - I managed to trap two mongooses.
c. I'm not his daughter - he is my farther. (cf. Horn 1985:132-3)

a. I didn’t wonder why the king of France is bold.
(=1 wondered why the king of France is not bold.)
b. #I didn’t wonder how he managed to trap two mongeese. I wondered how he managee to
trap two mongooses.

a. Everyone didn't come.
b. For everyone didn’t smile (= no one smiled), we got everyone refrained from smiling.
c. A: Somebody didn't come. B: (Yes, in fact) everybody didn’t come. (from Horn 1989: 227-8)

a. JOHN didn’t talk to May - BILL did.
b. John didn't TALK to May - he SENT her E-MAIL.
c. John didn’t talk to MARY - he talked to SUSAN. (from Valin and Lapolla 1997)

a. He doesn’t think she’ll COME. (= He thinks she'll not come.)

b. He DOESn't think she'll come. (= It is not true he thinks she will come.)

c. He doesn’t THINK she'll come. (= 'thinking’ is not a good expression of it.)
(from Hofmann 1993: 48)

a e 5ol A FA &1, 5AA FAAAS8.
e AFOA Ae FA @3, AFAA FE FUL.

o

-1 -
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r-{n

9

10) a.

FAe] 24 dE4H T B

249 BAY 4H:

BEHABE RAAT (negation phrase)E ©]FT (cf. Kayne 1989, Pollock 1989, Chomsky 1989).

H
BARol & Spec A YA s LAY EAE ovlgtl. (Rizzi 1990, Beghelli and
Stowell 1997, Haegeman 1995 cf. also Ouhalla 1990, Aoun and Li 1993, Hornstein 1995)

Why don’t 1 believe (t) that John was fired (#t)? (inner island effect)

b. Some does not love everyone. (*xthe distributive reading)

11) BAY olF HIwW:
FRAL 247 FALE o %9, 383 HA (morphological checking)& 93} ] %ol

o
d

AL B 3G o T (adverbiahlZ M, 2 FAHFA (modification relation)S ¢
BEAL 274849 AAY MNAE P2, 2HAALE BAHHE FHsE B
(negating)® 715 < 7F3t} (cf. Koktova 1987, cf. also Jesperson 1917)

o}

o 1

b ERAL aAa HAL 93 RAATY SpectEl® o]F§ E, cliticization ©]Y} incorporation

808 FAY 849 ejHeor Ao welry BA EBA Yxle FHAY 99
(domain)& HHAH o2 ¥ F} (cf [+sn] and [+wh]).

12) ..neg-{B .. 1.. -—=> .. neg ..4[B. 1.
13) a. EFA v EPFA uigd s do] zid,
b. #8Ae BAAH AL E5AY BAA, gelF A AN, FAH BEXE o]Fo]&q
e} A g},
14) a. Terry is not running to Brookiyn

. {(but rather [a driving to the Bronx)).
. (but rather (B to the Bronx]).

. (not [a driving to the Bronx)).
. (not [B to the Bronx)). (cf. (1C-D) in Koktova 1987:178)

a
b
c
15) a. Surprisingly, Terry is running to Brooklyn
b
¢

16) a. 47 w24 A
b. B7t w27 A=A Fy.

17) Chomsky’s (1973) Not-°|%5 3 (a rule of Not-Movement): ¥ A7 olF3 ‘@&’

(association)® HX& XA AL89E AH ) (cf Fischer 1968).

18) a. I didn’t see pictures of many of the children. (amb)

b. I didn't see John's pictures of many of the children. (unamb)

19) a. Not many of the pictures are such that I saw them.
b. Many of the pictures are such that I didn’t see them. (cf. (46-7) in Chomsky 1973))



3. TALEAY FAAFEIAEA:
A) THE CONSTITUENCY PROBLEM (743 A& A)

20) a. John did not kill Mary.

b. It was not John and Mary who were involved in the killing. (cf. (4) in Gabbay and
Moravesik 1978)

21) a. John only introduced BILL to SUE. {cf. (39) in Rooth 1996)
b. John did not introduce BILL to SUE. I introduced SUE to BILL.

B) THE SUBJACENCY PROBLEM (A=A EA)

22) a. I din’'t buy [HIS book] (but I bought HER book).
b. *Whose did you buy [ t book]?

23) Neg-raising contexts vs. Non-neg-raising contexts
a. I don't think that John met MARY. I think that John met JUDY.
b. T don’t know that John met MARY. 1 know that john met JUDY.

24) a. I didn’t wonder whether John met MARY. I wondered whether John met JUDY.
b. I didn't come to meet MARY. I came to meet JUDY.
c. I didn't see a man who wore a RED shirt. 1 saw a man who wore a BLUE shirt.

4. BHAS 23vA 434

(25) John even gave his daughter a new bicycle.
(26) a. JOHN even gave his daughter a new bicycle.
b. John even gave his DAUGHTER a new bicycle.
c. John even gave HIS daughter a new bicycle.
d. John even gave his daughter a NEW bicycle.
e. John even gave his daughter a new BICYCLE.
f

. John even GAVE his daughter a new bicycle. (cf. (6.87) and (6.89) in Jackendoff 1972)

27) Johns claims that he could sell refrigerators to the Eskimos, but in fact he couldn’t even
sell WHISKEY to the INDIANS. ((6¢) in Anderson 1972)

28) a. #1 only introduced Bill to THE LINGUIST DURING THE SUMMER.
b. #John only met BILL YESTERDAY. (Richard Kayne, personal communication)

29) a. #I even introduced Bill to THE LINGUIST DURING THE SUMMER.
b. #John even met BILL YESTERDAY.



30) a. #John didn't introduce Bill to THE LINGUIST DURING THE SUMMER.
b. #John didn’t meet BILL YESTERDAY.

3 a FEe BFE <yAAMN obide, €HE BFAA 2ARD
b. #9383 BFE oA ol £8E o2& Wk
c. #338 = BFE Axgy] AMA oV £HE YUE A7 AN T Roi}

32 a 98t BFE YA ohe} AHE A LA
b #938E ASFE ofA7t olUet £ HE oAl Wy
c #98lE BEE syl QA ohie, £3E sy AN B

33) a. {f7 He wasn't [f6 warned to [f5 look out for [f4 an ex-convict [f3 with [f2 a red [f1
SHIRT 11111

b. 1. No, he was warned to look our for an ex-convict with a red {f1 TIE].
i, No, he was warned to look our for an ex-convict with [f2 a CARNATIONI.
iil, No, he was warned to look our for an ex-convict [f3 wearing DUNGAREES].
iv, No, he was warned to look our for [f4 an AUTOMOBILE salesman].
v. No, he was warned to [f5 expect a visit from the FBI].
vi, No, he was [f6 simply told to be more cautious].
vii. No, [f7 nothing was said to anyone]. (cf. (52-4) in Chomsky 1971)

34) a. It is not that I dislike it, but that I cannot afford it.
b. The question is not how we should do it but why we should do it.
¢. What 1 did is not keep it but improve it.
3B a 2P SLEHY 23T FAE 23 (A7 M E, 2FYUFICR UE £ Y3 (Chomsky
S AT BAHA BAE Feoh
d 2EB gulBH]] Aol Yoem, 4 SLEH. BAH #3& wan,
S B3 Adge Bodta, A 24 FHEAY B4 EXe AlA0

36)a [Y YO I8 ... [neg-If ..T..1.11 ==>
b. [YP negi [Y' YOO [B .. [ti-[f .. T .01 .11 (YP = BAHAF; f =

P
o
ot
B
.—g
H
P
it}

37) ¥4 (negating)® FAMY RA (syntactic negating)
a BAMH R FRAN 2EYF e BAE Ui, (YuiEFH) RAL A7 X9 RS
ig-id=3
b, 8L 2HYFAY s ol 2HE BAY & AT} (cof B9 H H (unselective
binding)).
c. e F N oA FRE £ UdAT, FAHE 2HE F 7L glojok dr)

B oF 2P+ A4x ¢
Z730] 3t ol 4 AF dF%9 2o FAHLY HAE BAF I



5. &R FeAte 94nlA Fs @A

39) a. G3= TE FAAA I AFAL ANEA Fo)
b. Yenghi introduced some students a foreigner.

c. Yenghi didn't introduce every student a particular foreigner. (She introduced every student
some other foreigners.)

d. #Yenghi introduced some students some other foreigners.

40) a. BE REH & $4E 2 Yo
. Some professors teach a student.

. Every professor teaches more than one student.

0o g B

. #Some professors teach more than one student.

4) a BE BE7H ¥ G4 A2ZAA ¥eTh I¥E @ G4 A=Ay adn, 9%

rir
o
i

ki
1o,
1
rir
)

b #RE R4V @ A4S AZAX Fevh ARE Y 4 A 3w

42) a. BF7}F o] o] 2 A it
b. For this reason, everyone was not-fired.
c. Everyone was fired not for this reason. (They all are fired for some other reasons.)
d. Some (not all) were fired for this reason.
e, #Some were fired not for this reason.
f. #For this reason, some were not-fired

g. #Everyone was not~fired not for this reason (but for some other reasons.)

2

43) ZF7F of olfE FHHA @& A duUs, RF7L o)y o] ol {2 AHYs) WRoloh

44) a. ZE7}F o] ol F &2 MR ¥yt
b. A7t RFE R ¥t

45) a. 23 ¥ £ dide]l B £ Ut

b, F&Ate EFAEFH 1d 19 #AE ZHAY, 243 A BH=A g
c. FEAre 2o FEY BE 3ol $AHAH22 FPEA

6. SN HZAEFEAY FAEA (the projection problem)

46) a. I even believe that FRESHMEN could solve the problem.
b. She even regretted that she bought the COAT.
c. John even has the idea that HE is tall for a Watusi. (from Anderson 1972)

47) a. He did not believe that she met everyone. (the "some” reading)

-5-



48)

49)

50)

51)

52)

53)

54)

55)

57)

58)

b. He did not know that she met everyone. (*the “some” reading)

a A4E 457 25 vz 94 e

b. e A7t 25 E wd AL FIHIA g

CNPC:

a AFE 227 g (939) T A ¢sk

b. BFE BRFAA U & (2) FEL AHA #sttl.  (cf. the Specificity Condition)

The wh-island Constraint:
a. Ue ZE7 F9g A TEIHA @drh (strong island)
b. UE 257 27& #4eA T8 ¥tk (weak island)

The Adjunct Condition and The Subject condition:
a AFE EF 47 dEd dubA g
b. EF7F WgtE 1 AMde] Wi A] ket

FepAbA] o
Fspatel RAL Bk AHHA ERH-FHABAS ik 2WUFI CFCE THY 39,
ERAEL 1 e FBAE FASHA R¥Th)

a. Kiparsky and Kiparsky (1970): AA & ¥4 HA &¥Et} (what is presupposed is not
negated). ==> AAS 84 FAHA v

b. AT E BEAF oz EAH Y ¥zAYFTE FAHCZ YA gt (of focus vs.
nonfocus in Dryer 1996)

I don't think [f that John met MARY].
. I don’t think that John met [f MARY].
. I didn't know [f (the fact) [ that John met MARY]]

o oo B

a.

FE d3E wuA dud 1Y ede Ut
Bz 2 7 g 28y $EdAdE AF T

e dFb 43 wena A4eR gt

e BEU 48e Bute AAdE @A X

E g7t 488 e AdLe 44 RS (23Y £3 8 TRTE AdE ¢4n
AU

o T ®

a. ZF7t o] o2 HnHAE FUT
b. AF7 E5E A E ¥R

a »#EF7F RE AL £Fttn Azhgd
c. /487t EEE T

. *] didn't know [ (the fact) [ that John met [f MARY1]. ({(cf Kiparsky and Kiparsky 1970)



59) a. I [o47]14 B3I (&L} U& AR(E/2)] BA Zyoh

60)

61)

62)

65)

b. Y& [°§ B7} AF{E/r8) WHEA(E)] A g
c. ' [da{E&xs) du7l @I 947 oA @ud.
d. é = (€37t d3{E/x) Tte AE(R)] €1 dA ¥

a. WEZHHEA (the contrastive marker) AAle] 24 & 7FAY, F¥ 43} o] 28T
THRE o]lFETh

b. ¥5-Ao] olF % gt WY, X2HIAE olFdA &, 24T AYY dx L84
(contrastive null operator)7} BAIH o2 o] 53t} walM PxxHFA 9 9x=
¥Aole] ojF A A9 FYs

a. John doesn’t think that Bill didn’t go.
b. John thinks that Bill went.
c. John thinks that Bill didn’t not go. (cf. Jackendoff 1971)

a & [B 7|4 WY 2 4R FE 2 AEel 2A ZHd.
b. ve (B 87 g wuA FgeA] FEA 4.

= [B 29 dojAA @7 faA] wWyR] st

B 287 aRg AR dskthe A E] g2 A @

a. Who wonders what he bought?
b. I didn't ask why he didn’t leave.
c. I do not regret that I didn’t leave.

a. 2HLEA 2¥UTY dHde RE 23 & B9d3AL (focus-sensitive particle).
b. 23 2 F (closed focus category): 2HHF¢} At 2 LA/ yjEoz
We 9y (eg TH Aol HHY AL e EHAT EL YP in (36).

st
o

i

=4 5 2
232 2FYPFE Wi = o2 23 2HYFE M £ dn, B 2FYFE F o
x & 8348 4+ Uk

i [YPnegi .. ¢t .. [YPnegk.. te.. 1

ii. [YP negi .. t~[YP negk .. tx ... ]}

7. &2} EFABA

66)

67) a. 57t ¥+

¢

71& M &AL

rir

gRAut 2 4898 ZEo (A2A4E 238 5 94

& WA FEY7?
b. ¥7} EF& WA &FUA?
c. 2& EFE YA WA FFY?



68) a. RF7} ¥FE TUA U
b. FFE BERE TR gaUn?

¢ 2E EFE oHAE BuN 2

69) a.

9807k FFE WA FEUN?
b. A

8
& DA ¥HU

70 2. A47E FTFAA FTE LAFAE GREUN?
b 77t FRE QA WAL YRkEUAN?
c +A%7t FFE Fo 9 AR S3keu?

) a BFE U7 FAUL/L) Rvhn AAsA(2) Herher
b BFE 357 FAILAL) Aohe AAL) ¢ A FUe?

72) 8 e (G714 F& 49 XL de AFE] BA RPEUA?
b U (4714 F& 49 £¢ A& ARL] BA RASUA?

73) a. xuE [ w7E AREA] FEEA gk
b. e (87 ¥7F& uneAE] 3552 o

74) o *BFE [FFE D) A84) 9471 oF WgkEUz?
b BFE [F78 27l AaME] ofr] oA gk

) a dEAE 22" 4 Yok
b ABAE 2R AN, 2HL PFUTH 2PYFANN FEH) o))
PSR, s o4 ABAF 2PUFANN FHD 4 Ao

8 a9

76) ... [YP neg; RS ] A T4 B ]
" | |
| (1 | (2)__|

(1) = 573 )% (2) 'MAddd A%’ (unselective binding)

T a 2AESA (2 GEH BUY BAH 42E FYeh, wHed 4de 0E + U,
L BRA - BRAA o8 A&HE, st o) ¢ 23 F& % zhold, St FAE

ii. even (23 &R BRAHBAL) - evendl 8] d&HE, 81 o] 23& T¥s:

- M WREASG GHY 2WRF
$) AR H. WFH 436 A

o
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